HOMESTEAD GRILL GUARD
SPECIFICATIONS

DIMENSIONS 18-3/8" X 17-1/8" X 4-5/8"

WEIGHT 8 LBS.

MATERIAL 12 GA. (0.105") THICK CARBON STEEL

(2X) - 5/16"-18 BOLT
HARDWARE
AND NYLOCK NUT PROVIDED
POWDER COAT OPTIONS GREEN, BLACK
SUPPORTED TRACTORS 3033R, 3038R, 3039R, 3045R & 3046R
SUPPORTED LOADERS 300R
gn
183

- o
SSSQ0s  0asSSe0
OOSKROS SO0
SiSiSSISIISSSIsEE
e]ololololololololololololololo o oto)e)!
Q0000000000000 O00000
Q0000000000000 000000
Q0000000000000 000000
Q0000000000000 000000
Q0000000000000 OOO000
SSSSScs=Ss=as28s2as28ss

TN

OMESTEA

IMPLEMENTS

THIS DRAWING, WHICH CONTAINS PROPRIETARY INFORMATION, IS THE PROPERTY OF JAMESTOWN
ADVANCED PRODUCTS CORPORATION. IT SHALL NOT BE REPRODUCED IN ANY MANNER NOR
DISCLOSED TO THIRD PARTIES WITHOUT WRITTEN PERMISSION OF JAMESTOWN ADVANCED
PRODUCTS CORPORATION.

DATE :5/2/23

PRODUCT PART NUMBER : JD1

REV. NO.

PRODUCT DESCRIPTION:JOHN DEERE GRILL
GUARD - JD1

2855 GIRTS ROAD
JAMESTOWN, NY 14701

PHONE 833-625-0635 -- FAX 716-483-5398 -- WWW.HOMESTEADIMPLEMENTS.COM




HOMESTEAD GRILL GUARD JD2

SPECIFICATIONS

\
\\\\\\\\

a00000
a0

ao0o000

0000000000
©CoOO00000000

DIMENSIONS 23" X 14-1/2" X 2-1/4"
WEIGHT 6.34 LBS. S
MATERIAL 12 GA. (0.105") THICK CARBON STEEL
HARDWARE (2X) -5/16"-18 BOLT
NYLOCK NUT & FLAT WASHERS PROVIDED
POWDER COAT OPTIONS GREEN, BLACK
SUPPORTED TRACTORS 3025D, 3035D, 3043D
3032E, 3036E, 3038E
SUPPORTED LOADERS 300E
s S i
OO OO
- Sl ], )
SS=5388 1 L 8853358
SSK0SS H SSeOS50
QQQSQQQ BININ 0008009
010101010101 010I01I010]0) 0]0)01010]010]10]01010)0) 14i“
0]0]010101010]10101010]0) 0]0J01010]010]10101010)0) 2
0]0]0]010101010101I010]0) 0]0J0101I01010]10101010)0)
010101010101 01010I010]0) 0]0]010101010]10101010])0)
000000000000 000101010101 0101010)0)
0]010]10]01010]10101010]0) 0J01010101010]1010]1010]0)
0]0]0]0101010]1010I0]1610) 0]0]010]0]10101010101010)
010101010101 010101010)0) OOOOOOOOOOOO@
0]0101010101010101010]0) 0]0)010101010]10101010)0)
OOOOO0O0O0O0O00OO0O O000O00O00O0O0O0) ]
= 23"

THIS DRAWING, WHICH CONTAINS PROPRIETARY INFORMATION, IS THE PROPERTY OF JAMESTOWN
ADVANCED PRODUCTS CORPORATION. IT SHALL NOT BE REPRODUCED IN ANY MANNER NOR
DISCLOSED TO THIRD PARTIES WITHOUT WRITTEN PERMISSION OF JAMESTOWN ADVANCED
PRODUCTS CORPORATION.

DATE :5/24/23

AN

PRODUCT PART NUMBER : JD2

REV. NO.

IMPLEMENTS

PRODUCT DESCRIPTION:JOHN DEERE GRILL
GUARD - JD2

2855 GIRTS ROAD

JAMESTOWN, NY 14701

PHONE 833-625-0635 -- FAX 716-483-5398 -- WWW.HOMESTEADIMPLEMENTS.COM




HOMESTEAD GRILL GUARD
SPECIFICATIONS <
’QQ\
DIMENSIONS 20-3/8" X 16-1/2" X 3-3/8" %§§%%Q
SSSSSSS
WEIGHT 6.184 LBS. §%§§%§§ N
SSEESSS I §
QS Q
MATERIAL 12 GA. (0.105") THICK CARBON STEEL . Q%%@ S
1S90
(4X) - 5/16"-18 BOLT, §88§§888800 §
HARDWARE NYLOCK NUT AND (8X) -FLAT WASHERS 8888§888§8 880
PROVIDED LOSSROE3S | 889
QQOQQOOO QQQ
POWDER COAT OPTIONS GREEN, BLACK °8§§§§§ §§§
NN
MY
SUPPORTED TRACTORS 2032R, 2038R (2017- CURRENT) N
SUPPORTED LOADERS 220R
3
3o |-
8
(S oo | g,
O OO OD Ol o m%%mm
SSS2558 | 8235223 R
Se30esK 502850 %%m@ﬂ
QQQQQQQ OO@OOOO %@)%
COESI06: SO2T 503 2
QOS890 SHOSSO0S
pSSISIS D550 |
]67"
0000000000
00000000000 Q0000000000 @00000000000
[OOO000000000 00000000009 00000000000
00000000000 O000000000O 000
O0000000O000 O00000000O0O 000000000
0000000000 Q000000000 000000000
O00000000 O00000000 00000000
Q0000000 OO0000000 0000000
O00000O0 O000000O 000000
O0OO0000 O0000O0 ‘

THIS DRAWING, WHICH CONTAINS PROPRIETARY INFORMATION, IS THE PROPERTY OF JAMESTOWN
NCED PRODUCTS CORPORATION. IT SHALL NOT NOR

DISCLOSED TO THIRD PARTIES WITHOUT WRITTEN PERMISSION OF JAMESTOWN ADVANCED

PRODUCTS CORPORATION.

BE REPRODUCED IN ANY MANNER

DATE :10/2/23

TN

PRODUCT PART NUMBER : JD3

REV. NO.

HOMESTEA

IMPLEMENTS

PRODUCT DESCRIPTION:JOHN DEERE GRILL
GUARD - JD3

JAMEST

2855 GIRTS ROAD

OWN, NY 14701

PHONE 833-625-0635 -- FAX 716-483-5398 -- WWW.HOMESTEADIMPLEMENTS.COM




HOMESTEAD GRILL GUARD
SPECIFICATIONS
DIMENSIONS 19-1/8" X 16-1/2" X 3-1/4"
WEIGHT 5.654 LBS.
MATERIAL 12 GA. (0.105") THICK CARBON STEEL
(4X) - 5/16"-18 BOLT,
HARDWARE NYLOCK NUT AND (8X) -FLAT WASHERS
PROVIDED
POWDER COAT OPTIONS GREEN, BLACK
SUPPORTED TRACTORS 1025R, 1023E, 1026R
SUPPORTED LOADERS 120R, D120, H120

0000000000

0000000000
0000000000
0000000000
0000000000

©0]0]0]0]e]e)
OO0000O
0]0]0]0]0]0]0]0]e]e)
OOOOO0OO000
OOO0O0OOOO0O0O
0]0]0]0le]0]0]0]e]e)
OOO0OO0OOOOO
0]0)0]0]0]0]0]0]e]e)
0]0]0]0]0]0]0]0]e]e)

56

0000000000

—
—

00000000A0

0000000000
0000000000

0000000000
0000000040
00000000A0
00000000A0
00000000A0

N|—

16

OO000O0

O000000000
olelolelolelelelele)
0000000000
0000000000
O0O00000000
0000000000
0000000000
O000000000
0000000000
O000000000
0000000000

\\ngooooo

Y

oo00000000

0000000004,

[Flolz]zlzlzlzl7l7]7
ooooOOOCOOD

o0

ocoooOOOD

000000000
00000000

\\

TN

IMPLEMENTS

THIS DRAWING, WHICH CONTAINS PROPRIETARY INFORMATION, IS THE PROPERTY OF JAMESTOWN
ADVANCED PRODUCTS CORPORATION. IT SHALL NOT BE REPRODUCED IN ANY MANNER NOR
DISCLOSED TO THIRD PARTIES WITHOUT WRITTEN PERMISSION OF JAMESTOWN ADVANCED
PRODUCTS CORPORATION.

DATE :10/2/23

PRODUCT PART NUMBER : JD4

REV. NO.

PRODUCT DESCRIPTION:JOHN DEERE GRILL
GUARD - JD4

2855 GIRTS ROAD
JAMESTOWN, NY 14701

PHONE 833-625-0635 -- FAX 716-483-5398 -- WWW.HOMESTEADIMPLEMENTS.COM




HOMESTEAD GRILL GUARD §\
SPECIFICATIONS §§§
NN
L
DIMENSIONS 20-1/4" X 14" X 3-3/8" §\
A
WEIGHT 5.585 LBS. §§§%
o\
MATERIAL 12 GA. (0.105") THICK CARBON STEEL §§&§
(4X) - 5/16"-18 BOLT, %&&%
HARDWARE NYLOCK NUT AND (8X) -FLAT WASHERS “&%
PROVIDED {
POWDER COAT OPTIONS GREEN, BLACK
SUPPORTED TRACTORS 2025R
SUPPORTED LOADERS 120R
20l
qiDCD CDC:? 1
OSLR0Oo OS5 0|
SSSS882 | 2385358
120050 OXLHROOES|
ssssees il 3382333
OO0OO000O00OO00O00 O0000O0O0O0O0QO| 14
0000000000 0]0]0]0101010101010]10)
0000000000 0]0J0]101010101010)0])0.
0000000000 0]0]01010101010]1010]0)
0J010J0I01I0)010100le 0]0]0I0101010101010]10)
OO0O0O0O000O0OOO00 0]0]0]010]10]010]10]0]0)
[OOOQOOOOOOO OOOOOOOOOOO]
OI0]0]01010I0]0I0]0)e) 0]0]10]0]01010101010])0)
\OOOOOOOOQOQ OOOOOOOOOOO/ '

=2

ooo0000
ooooooo
ooooooo
ooooooo
ooooooo
0000000

o r rr > >4
oooooog,

oo oooos SRR

o000
ocoooooor
ooooOOOOO
ooooOOCOOD
oo
oo
oo
oo

I = w
= oolw
=3 -
COOCOCEOOOD
OOOOOOOOD
PoOOOOOOD

=

0000000000
00000000000
0000000000
0000000000
0000000000
0000000000
00000000000
0000000000
00000000000

(o

TN

IMPLEMENTS

THIS DRAWING, WHICH CONTAINS PROPRIETARY INFORMATION, IS THE PROPERTY OF JAMESTOWN
ADVANCED PRODUCTS CORPORATION. IT SHALL NOT BE REPRODUCED IN ANY MANNER NOR
DISCLOSED TO THIRD PARTIES WITHOUT WRITTEN PERMISSION OF JAMESTOWN ADVANCED
PRODUCTS CORPORATION.

DATE :10/2/23

PRODUCT PART NUMBER : JD5

REV. NO.

PRODUCT DESCRIPTION:JOHN DEERE GRILL
GUARD - JD5

2855 GIRTS ROAD

JAMESTOWN, NY 14701

PHONE 833-625-0635 -- FAX 716-483-5398 -- WWW.HOMESTEADIMPLEMENTS.COM




QORI

22-3/4" X 17-1/4" X 1-5/8"
7.066 LBS.
12 GA. (0.105") THICK CARBON STEEL
(2X) - 5/16"-18 BOLT,
NYLOCK NUT AND (4X) -FLAT WASHERS
PROVIDED
GREEN, BLACK
3025E, 3025D, 3032E, 3035D, 3038E, 3043D

SPECIFICATIONS

HOMESTEAD GRILL GUARD

WEIGHT

DIMENSIONS
MATERIAL
HARDWARE

)
0

.IJA. -

™
000000000000
: 00000000 900000000000
= 00000000  ©90000000000
- 000000000000
= ||| AN Sssssssssee
8 @ww%%%%w 000000000000
3 000000000000
n 00000000 ©00000000000
S 000000000000
e 000000000000
~ 000000000000
N 000000000000
0000000 595555555558
4 QQQQQQQQ 0]0]0]0]0]0]0]0]0]0]0])
o 000000000000
g B 553558399355
5 V0000000 558880686600
= 00000000 666000000000
S 00000000  ©OOOOOOOOO00
& 000000000000
2 //Jﬂ7/// 000000000000

POWDER COAT OPTIONS
SUPPORTED TRACTORS

g

2855 GIRTS ROAD
JAMESTOWN, NY 14701

DATE :01/19/24

REV. NO.

JD6

THIS DRAWING, WHICH CONTAINS PROPRIETARY INFORMATION, IS THE PROPERTY OF JAMESTOWN

ADVANCED PRODUCTS CORPORATION. IT SHALL NOT BE REPRODUCED IN ANY MANNER NOR
DISCLOSED TO THIRD PARTIES WITHOUT WRITTEN PERMISSION OF JAMESTOWN ADVANCED

PRODUCTS CORPORATION.

PRODUCT DESCRIPTION:JOHN DEERE GRILL

PRODUCT PART NUMBER : HI-P-GG-JD6
GUARD -

PHONE 833-625-0635 -- FAX 716-483-5398 -- WWW.HOMESTEADIMPLEMENTS.COM

IR\
OMESTEAD

H

IMPLEMENTS

V),




	HI-P-GG-JD1
	JD1
	Drawing View11
	Drawing View13
	Drawing View14


	HI-P-GG-JD2
	JD2
	Drawing View1
	Drawing View2
	Drawing View3


	HI-P-GG-JD4.pdf
	JD4
	Drawing View1
	Drawing View2
	Drawing View3


	HI-P-GG-JD3.pdf
	JD3
	Drawing View2
	Drawing View3
	Drawing View4


	HI-P-GG-JD5.pdf
	JD5
	Drawing View1
	Drawing View2
	Drawing View3


	HI-P-GG-JD6.pdf
	JD5
	Drawing View1
	Drawing View2
	Drawing View3





